COLD TASK

Use the place value grid to solve the addition calculation below.

Complete these calculations using column method

153+ 2031 =
1569 - 604 =

weekend in total?

. A supermarket has 1284 loaves of bread at the start of the day. During the day, 857 loaves are
sold and a further 589 loaves are delivered. How many loaves of bread are there at the end of

the day?

. A chocolate factory usually produce 1568 caramel bars on a Saturday but on a Sunday
production decreases and they make 325 fewer bars. How many bars are produced at the

. Jenny estimates the answer to 3568 + 509 = 4000. Do you agree? Explain your answer.

. Write 4 number sentences using the numbers 142 and 2315




